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SUMMATIVE ASSESSMENT - I, 2015-16
MATHEMATICS
i Class - X i ¢«
Time Allowed: 3 hours Maximum Marks: 90
General Instﬁictions: i

1. All questions are compulsory.

2. The question paper consists of 31 questions divided into four sections A, B, C and D.
Section-A comprises of 4 questions of 1 mark each; Section-B comprises of 6 questions

of 2 marks each; Section-C comprises of 10 questions of 3 marks each and Section-D
comprises of 11 questions of 4 marks each.

3. There is no overall choice in this question paper.

4. Use of calculator is not permitted. g)ﬁ1§
- |2
SECTION-A
Question numbers 1 to 4 carry one mark each 7 Z %
In ADEW, AB || EW. If AD =4 cm, DE =12 cm and DW = 24 cm, then find the value of DB. T
Find the v:due of sin 4cos(90° - 4)+cos Asin(90° - 4) g
_ ER :
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1f \35in @ = cosd find the value o e - 1.:an8 o{Lvod) ) /; i ” -
o s &
> e q A /
Following distribution gives cumulative frequencies of ‘maye thantype’: , = =g 1
Marks obtained More More More More Sl y o~
than or|than or|than or|than or : s
equal to|equal to|equal to|equal to| ,
5 10 15 20 N ﬁ |
| Number of students | 30 23 8 2
(cumulative [7
frequency) Tt L
_ _i2 *Wh
Change the above data to a gontinuous grouped frequency distribution. X % i
R~ ngf SECTION B R
N _b— v o w2 D)
Question numbers 5 to 10 carry two marks each. 1 5 h Y
" ?/
Explain why 7x6x5x4 +5is a composite number. ~ ¥ e
Apply Euclid’s division algorithm to findHCF of numbers 4052 and 420. /772 s
\ T,
On dividing polynomial x3- 4x2 + 7x - 4 by a pplynomial g(x), quotient anﬂi remainder are <

x2- 2x+ 2 andx respectively. Find g(x).
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Observe the given figures of AABC and APQR. Then find whether they are similar or

£ 1§

A 4em - BQ 8 cm R
a
Prove that (sec’ @ —1)(1-cosec’d) = ~1 sl L
( I ) © Jopar &

For the following data, find mode : Lant: © \&=

Class 10-13 [13-16 [16-19 |19-22 [22-25 s LA "

Frequency | 4 8 9 11 7

 SECTION-C

Question numbers 11 to ZG“Carry three marks cach.

Show that square of any positive odd integer is of the form 4q + 1, for some integer q. /?L/ 3

olve for xand y : . QL

(,\/

3
3x +5y=12

3x-5y+18=0

2 3 2
Check whether polynomial x_— 5x + 2 is a factor of the polynomial 3:’:‘I —5x —10x + 20x - 8. Verify by 3
division algorithm.

Solve forxand y: /

In equilateral AABC, AD is an altitude. Equilateral AADE is drawn taking AD as one of its sides. 3
Prove that area (AADE) :ar (AABC) =3 : 4.
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16  In given figure, AABC 0 ADEF . AP bisects ZCAB and DQ bisects ZFDE el
C
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Prove that
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Ifbcos@ =a, then prove that cosecf +cotfd = [—. A D Wedh .
—-a 4 -~ £
- 1’— ‘ ',.i A \ >\"
18 prove the identity : sin 4(1+ tan 4) + cos A(1 + cot 4) = sec 4 + cosec4 & B
19 A survey regarding the heights( in cm) of 50 boys of class X of a school was conducted and the following 3
result was obtained :
& N~
Height (in cm) mer of boys
Less than 145 4
Less than 150 11
Less than 155 28
Less than'160 38
Less than 165 45
Less than 170 50
Find the median height of the boys.
20 Class teacher recorded the following absentee record of 30 students of Class IX for the whole year 3
Number of absentee | 0-10 10-20 20-30 30-40 40-50
Number of students | 10 12 5 2 1
1

Find the mean for the above data. L®
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SECTION D
2,
Question numbers 21 to 31 carry four marks each. % :
¢ \ ¢
v |

Can the number 67, n being a natural number, end with the digit 57 Give reasons. v

A fraction becomes %if 1is added to both the numerator and the denominator. If, however 5 is

i 1 .
subtracted from both the numerator and the denominator, the fraction becomes—. What is the

/ 2
fraction? .

Find all the zeroes of the polynomial x4 - 323 + 6x - 4, if two of its zeroes are \2 and -2 . /4

DDA wants to make a rectangular park in the colony. If the length and breadth of the park is 4
decreased by 2 m, then its area will be decreased by 196 square meters. Its area will be increased

by 246 square meters if its length is increased by 3 m and its bread increased by 2m. Find
the length and breadth of the park.

What is the importance of parks in our life?

In the given figure, AP =3 cm, AR =45 cm, AQ =6 cm, AB =5cm and AC =10 cm, then find AD 4.~

and ratio of areas of ARQ and ADC. 7
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State and prove Pyih\agoras theorem. / = 4
Using the above theorem, solve the following :
In AABC, AB=6+/3 cm, BC =6 cm and AC =12 cm, find ZB.
Evaluate tan1° tan 2° tan 3°...tan 89° 4

" Sinﬁ ] Q" . — " —r‘ % L
Prove that : - e SER : " Z P
sinA+cosA-1 - (secA-tanA) : v
' nrig H¥» et
= 2
Prove that : sl =( o ] =(cot 4—cos ecA)2 -
sec A +1 l+cos A 2
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30 Pocket expenses of the students of a class in a college are shown in the following frequency 4

gl,.istribuﬁon s

| ‘
, |Pocketepenses | 1200 |400- |600- |800- | 1000 | 1200-
- 4
%) 400 |600 |800'7 |1000 |1200 |1400
Numbe
g las loe o lss |76 |aa |25
students /

&

Find the mean and median for the above data.

31 The following table gives the daily income of 50 workers of a factory. Draw more than type of 4

ogive /

B

| Daily income (in%) | 100-120 [120-140 im’qsc 160 - 180 | 180 - 200
Number of workers | 12 14 8 6 10
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